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Note :— Attempt all questions.
SECTION-A

1. Attempt all parts of the following : 8x 1=8

(a) What is the role of control variable in register
transfer language?

(b) Withinitial value of 10101010 after shifting left
circularly two times. What will be the value of

register?
(c) Give two example of two address instructions.

(d) Define the term accumlator register.
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(b) Define interupts. Discuss various types of
interrupts. Draw and explain the working of daisy

chaining priority interrupt.
(¢) Differentiate among :

(i)  Strobe Vs. Hand shaking method

(i) Isolated I/O Vs. membry mapped I/O

(iii) Logical shifting Vs. Arithmetic shifting.
5. Attempt any two parts from the following : 2x 5=10

(a) A computer uses RAM chitos of 226 x 8 and
ROM chips of 1024 x 8 computer system needs
2KB of RAM 4KB ROM and four interface units
with four registers. A memory mapped 1/0
configuration is used. The two highest order bits
of address bus assigned 00 for RAM, 01 for
ROM, ant 10 for interface registers.

(i) How many RAM and ROM chips are
needed.

(i) Draw memory address map for system.

(ii1) Give address range in Hexadecimal for
RAM, ROM and interface.
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